TI RN ERTZ S OiHAR

NO | fGh5 Ui B

1 | Define a.gx()= WHE a.qx F a fl 55 H gy
2 | Prgm H 24 AR PP a6 38 40

3 | RequestStr "HEfiiit & 0 &5 1",29,0 A ER U B 1S L A
4 | z=expr(zq) A 55 B ONBUE PR B

5 | 1fz=0Then FAHERITIRE r

6 | RequestStr "€ 7 AL ff", 0 h,08 N RN TT LA

7 | expr( 0 h)— 0 A H N B R A

8 0 0:=iPart( 0 )+((fPart( 0 ))/(0.6))+((fPart(100* 0 ))/(90)) | FE Ntk N 1 F iy &
9 | Request "#Z s X",x0,0 PERH AL S AL R X

10 | Request "2 A1 Y",y0,0 RN L ST AR bR Y

11 | Request "z fi#E*5",k0,0 BN LS

12 | Request " S 5" kz,0 L it

13 | Request "z i }-42",r1,0 YR o

14 | Request "¢ fif-4%2",r2,0 e E

15 | Request "/ fi-1 47 1",8,00 ke, EfMAIE

16 | Endlf SRR AE )

17 | setMode(2,2) BB AN

18 | Is:=kz-kO IHE AL ZK

19 | Ifr1=0Then THE A U R

20 | p1:=0 Bij 1 R=0 I} 1B 1

21 | Else

22 | pl:=((1)/(r1))

23 | EndIf SRR AE )

24 | If r2=0 Then THE 2 S

25 | p2:=0 Bj 1k R=0 I [ 5 24t i

26 | Else

27 | p2:=((1)/(r2))a

28 | EndIf SRR AE)

29 | RequestStr"IEH 0 v & 1"z ,0 PR E RS 0 )1
30 | z:=expr(z ) TR R AN BUE

31 | If z=0 Then 1EH

32 | Request "5 ="&string(k0),ki,0 BT, PR EENE S
33 | If ki<k0-0.005 or ki>kz+0.005 Then W B S YO ) SR R )
34 | Text "M 5 H Y "0 S H Y

35 | Stop LILFRT

36 | EndIf

37 | Request "iZ1ff=",di,0d i NIJHE B R R Y

38 | RequestStr "J&ff (7t fq 1E)=",6,,0 JABERI AR 407 B A

39 | expr(6;)— 0 L

40 | intDiv(B,1)+((intDiv(remain(B,1)*100,1))/(60))+((remain( | = ]NEki N 1 EE 43 F0 i 40 B

6*100,1)*100)/(3600))—> 0




41 | Else 743 0]

42 | Request " B £ X=",xp,0 N AL bR

43 | Request "B AL Y=",yp,0

44 | R»Pr(xp-x0,yp-y0)+k0— kil TR LS

45 | Request "IT LU 5="ki,0 5 A A B N

46 | If ki<k0-0.005 or ki>kz+0.005 Then R v L 1) ) W 2% A )

47 | Text "H5HEHVEH"0

48 | Stop

49 | EndIf

50 | EndIf

51 | Lbl bl

52 | l:=ki-ko T SR S 2K

53 | setMode(2,1) WE MR T

54 | 6i:=00+ [ (p1+((p2-p1)/(Is))*1,1,0,1)*B*((180)/(r1)) THE I

55 | xz:=x0+ J (cos(80*((r)/(180))+p1*I*B+(p2- THE AL AR
p1)*B*((1°(2))/(2*1s))),1,0,1)&@

56 | yz:=y0+ [ (sin(60*((r)/(180))+p1*I*B+(p2-
p1)*B*((1°(2))/(2*15))),1,0,1)

57 | setMode(2,2) W A ALY

58 | If z=0 Then

59 | Disp [["#E5", "I EE"," J& £ "] [ki,di,0:]] woN A

60 | Bi:=360*fPart(((360+6i)/(360))) B4 7 F PR

61 | Disp "t A7 7 fi=",0i>DMSE TN DI85 7

62 | Disp "% X=",xz+di*cos(Bi+8)a SEIRABFR

63 | Disp "5 Y=",yz+di*sin(Bi+0)a

64 | EndIf

65 | If z#0 Then E

66 | (xp-xz)*cos(Bi)+(yp-yz)*sin(Bi)—kn TR 2 {E

67 | ki+kn—ki TS

68 | If abs(kn)=0.001 Then ZERNT 12K, fEEinitH

69 | Goto bl FIbREE 1 HHE

70 | Else

@1 | Disp "#*5=",round(ki,3) LA AR i =)

72 | Disp "I FE=",round(~(xp-xz)*sin(8i)+(yp-yz)*cos(6i),3)d| ‘.~ EH

73 | EndIf?

74 | EndIf

75 | EndPrgm

76 | LR RS A A
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Define a. qx()=

Prem

RequestStr " H ik T0%1",29,0
z =expr(zq)

If z=0 Then

RequestStr " #2 57 A i /", 6k,0
expr(f}h) -0

fPart(d) .\ fPart(100 4]
0.6 20

Request "2 HX" x0,0

Request "#2 &5Y" v0,0

Request "#2 & fE5 " k0,0

Request "#¢ 5 i ", &z, 0

Request "#2 521", 71,0

Request "#4 524", 72,0

Request " Z{f-141",50

EndIf

setMode(2J2)

[s:=kz—k0

If #7=0 Then

nt=0

g0: =iPart(|5'J+
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EndIf

If »2=0 Then
p2:=0

Else

1
pZi=—
r2
EndIf
RequestStr " EH O/ H1",24,0
z:=expriza)
If z=0 Then|
Request " 52" &estring(k0), k1,0
If Ai<k0-0.005 or ki>kz+0.005 Then
Text "M 4 L TERE",0
Stop
EndIf
Request "1hiE=",d10
RequestStr " A (L M HIE)=",6,0
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a.qx

46/73

Fequestolr "R A T IE)=",5,U
expr(ﬁ?z] -

intDiv(g,1 1

intDiv(remain(§,1)- 100,1) = remain(# 100,1) 100

&0 3600
Else
Request "L H 5X="xp,0
Request "L H 5Y="p,0
R bPr(xp—ka}p—yOHkO — ki
Request "Ll 5 =",k,0
If <k0-0.005 or ki=kz+0.005 Then
Text "=k HEE",0
Stop
EndIf
EndIf
Lbl b1
I=ki-k0
setMode(ZJ 1)
{
p2-pl

Is

180
: f)d!- g —

i

Gi=00+ | |p 1+

n
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a.qx

Lbl b1
l=k-k0
setMode(ZJ 1)
/
p2-pl

Is

180
: f)d!- g

i

Gi: =00+

pI+

0
/

2
!
xz:=x(+ | cos|80- itﬂf' I ,8+|L02—P3)' B df
180 s
0

P

/

lvzi=ytH | sin

2
I
90 ——+p1- I prlpo-p1) pr — | di
180 2 Is

J0

s;tl\aiode(2J2)|
If z=0 Then
Disp [ 3T AR

=1

B
i

<
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a.qgx 73173
ETNOaE 2, 2] =
If z=0 Then
Disp | 'MES" "iREE" "R ﬁ-l"}
ki di 1
6i:=360- tPart| 0.
360
Disp " H#E A A f=",6/rDMS
Disp "it HX=",xz+di cos|fi+6)
Disp "it HY="z+di sin(gi+6)
EndIf
If z#0 Then
(xp—xz]- cos(t?r‘]ﬂ:yp—yzj- sin(ﬁ?r'] —kn
Ki+kn— ki
If | kn|20.001 Then
Goto b7
Else
Disp "5 =" round| k3]
Disp "iﬂﬁi_f:",r‘ound(-(xp—xzj- sinlBil+(yp—yz): cos[t?i),‘j:l
EndIf
EndIf]
EndPrgm =
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